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Note: Answer any 2 full questions, choosing one full question from each
part.
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Define minimal cover, Write an algorithm for finding aq" 8 L2 CO3
minimal cover F for set of functional dependencies E. | |y
—

bFind the minimal cover for the set of H;iEl;I%jA,f[ —6* L;‘"CO”
| L
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¢|Given relation R with 4 attributes R=(A,B,C5):1nd the 6 f L3/ CO3 |
following Fds. Identify the key and highest normalr | |
fform.C—D, C—A, B>C
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2|a/Consider a relation sciﬁama R(A,B,C:(J,_}_Lf)wa;drgfﬁ | CO3
F={ A—B, A—C, CG—H, CG—], B—H} ’, |

bExplain the following L2

1) Inclusion dependencies ‘
1i) Domain key Normal Form L ;
Y= e ]
¢/What you mean by closure of attribute? write an 6 ! L2 ‘ CO3 |

algorithm to find closure of attribute. | |
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PART B
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'3|a[Why concurrency control is needed? 8 |L2|CO4
| bWhat are ACID properties? Explain. 6 |L2|CO4
. |cExplain transition diagram of a transaction. 6 |L2|CO4
B OR

:\‘4 alWhat is a schedule? Explain with example Conflict 8 |L2|CO4
| | [Serializable schedule.

| |b 'Write and explain two phase locking (2PL) protocol. 6 |L2|CO4
1 ic iExplajn shadow paging recovery technique. 6 |L2/CO4

&

Prepared by: Savitha

Page: 2 /2



